
����$OWHUQDWLI�$NÕPGD��$&��
'HYUH�7HRUHPOHUL

��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

�

������7RSODPVDOOÕN�7HRUHPL
�V�SHUSR]LV\RQ�

%LU�OLQHHU�GHYUHGHNL�KHU�ELU�ED÷ÕPVÕ]�
ND\QD÷ÕQ�ELU�HOHPDQÕQ��]HULQGHNL�JHULOLPH�
�YH\D�LoLQGHQ�DNDQ�DNÕPD��D\UÕ D\UÕ
HWNLOHULQLQ�FHELUVHO�WRSODPÕ��E�W�Q�ED÷ÕPVÕ]�
ND\QDNODU�GHYUHGH�EXOXQGX÷XQGDNL�HWNL\H�
HúLWWLU�



��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

�

gUQHN ���� ,� DNÕPÕQÕ WRSODPVDOOÕN�
WHRUHPLQGHQ�\DUDUODQDUDN�EXOXQX]�

9� &�
���P)

5� �� 5� �
,�

Y��W� ��ÂVLQ�Z�ÂW ���I ��+]
Y��W� ��ÂVLQ�Z�ÂW �������I ��+]

9�

��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

�

��$G×P

9�
����� 9

9�
�9

=�
�M�

=� �� =� �
,��

,� ,�



��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

�

���$GÕP�
����M��Â,����M�Â,�  ���� ����[��
� M�Â,�������M��Â,�  �������������[��M�����M��
>���M��������M��@Â,� ���,� �����������$� �����M�����$
,��GH÷HUL�����QXPDUDOÕ GHQNOHPGH�\HULQH�\D]ÕOÕU�
M�Â����������� �����M��Â,�  ��
,� ��������������������������
,� ������������� $� ������M�����$
,�� ,��,�  ������M�����$� ������������ $
L���W� ����ÂVLQ�Z�ÂW ��������$��I ��+]

��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

�

��$G×P
9�
������ 99�

�9
=�
�M��

=� �� =� �
,��

,�,�



��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

�

,�� �������M�����$� ������������� $
L���W� ����ÂVLQ�Z�ÂW ����������$��I ��+]
,� ,���,��
L��W� L���W��L���W�
L��W� ����ÂVLQ�Z�ÂW�������������ÂVLQ�Z�ÂW ���������

�����7KpYHQLQ 7HRUHPL



��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

�

7KpYHQLQ 7HRUHPL
�%LU�OLQHHU�LNL�XoOX�GHYUH��ELU�JHULOLP�ND\QD÷Õ�97K
YH�RQD�VHUL�ELU�HPSHGDQVWDQ�=7K ROXúDQ�HúGH÷HU�
ELU�GHYUH�LOH�J|VWHULOHELOLU��
� 97K  LNL�Xo DUDVÕQGDNL�DoÕN�GHYUH�JHULOLPLGLU�
� =7K  E�W�Q�ED÷ÕPVÕ]�ND\QDNODU�GHYUH�GÕúÕ
EÕUDNÕOGÕ÷ÕQGD��LNL�Xo DUDVÕQGDNL�HúGH÷HU�HPSHGDQVWÕU�

��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

��

7KpYHQLQ 7HRUHPL�LoLQ(üGHùHU�'HYUHOHU
/LQHHU�
��XoOX�
GHYUH 97K

=7K
�
9
�

�
9
�

,

/LQHHU�
��XoOX�
GHYUH

$�
9$%
�
%

%D÷ÕPVÕ]�
ND\QDNODUÕQÕQ
WDPDPÕ GHYUH�
GÕúÕ EÕUDNÕOPÕú
/LQHHU�'HYUH

=JLULú
97K  9$%
=7K  =JLULú

,

=/ =/

$

%



��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

��

gUQHN������$úD÷ÕGD�YHULOHQ�GHYUHGH�,� DNÕPÕQÕ
7KpYHQLQ WHRUHPLQL�NXOODQDUDN�EXOXQX]���

$

%

5� �

9�
���������9

=� M�

5�
�
,�5�

�
=�
M�

��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

��

=7K "

=7K  ������M�����
=7K  ����������

$

%

5� �

9�
�9

=� M�
5� �
=� M�

M�M�����
M�����== $%7K ���

��  



��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

��

97K "
$

%

5� �

9�
���������9

=� M�
5�
�
=�
M�

9M����9��������9
M��
M�����M����M�����

�������99
7K

�$%7K

� q� 
�
� ����

q�  

,� ,� �

��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

��

,� DNÕPÕQÕQ�7KpYHQLQ HúGH÷HU�GHYUHVL
NXOODQÕODUDN�EXOXQPDVÕ

97K
����������9

=7K
����M���� $

%

5�
�

,�

�$���������,�
�$M�������,�

�M���������
��������,�

5�=
9,�
7K

7K

q� 
� 

��
q� 

� 



�����1RUWRQ�7HRUHPL

��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

��

1RUWRQ�7HRUHPL
�%LU�OLQHHU�LNL�XoOX�GHYUH��ELU�DNÕP�ND\QD÷Õ �,1� YH�
RQD�SDUDOHO�ELU�HPSHGDQVWDQ��=1� ROXúDQ�HúGH÷HU�
ELU�GHYUH�LOH�J|VWHULOHELOLU��
� ,1  LNL�Xo DUDVÕQGDNL�NÕVD�GHYUH�DNÕPÕGÕU�
� =1  =7K  E�W�Q�ED÷ÕPVÕ]�ND\QDNODU�GHYUH�GÕúÕEÕUDNÕOGÕ÷ÕQGD��LNL�Xo DUDVÕQGDNL�HúGH÷HU�GLUHQoWLU�



��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

��

1RUWRQ�7HRUHPL�LoLQ(üGHùHU�'HYUHOHU
,1 =1

/LQHHU�
��XoOX�
GHYUH

$
,$%
%

%D÷ÕPVÕ]�
ND\QDNODUÕQÕQ
WDPDPÕ GHYUH�
GÕúÕ EÕUDNÕOPÕú
/LQHHU�'HYUH

$

%
=JLULú

,1  ,$%
=1  =JLULú

/LQHHU�
��XoOX�
GHYUH

�
9
�

,

=/
�
9
�

,

=/

�����0DNVLPXP�*�o 7UDQVIHUL7HRUHPL



��2FDN������
<�'Ro�'U�7XQFD\�8=81

(OHNWULN�'HYUHOHUL�� 'HYUH�7HRUHPOHUL�
�$&�

��

7K
�7K

7K
�

7K
7K7K

�

7K7K
7K

7K/7K/

/
�

/7K
7K/�

��

5�
93

55�
9

�
�

�
=

==
93

55==
===

9
�
�=,6

� 

�¸̧¹
·¨̈©

§
� ¸̧¹

·
¨̈©
§

� 
  
�  







97K

=7K
�
9
�

,
=/

=/ \�N�HPSHGDQVÕQD�WUDQVIHU�HGLOHELOHFHN�PDNVLPXP�J�o�


